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1. A tap can fill a cistern in 8 hours and
another can empty in 16 hours. If both the
taps are opened simultaneously, the time
(in hours) to fill the cistern will be

,d uy Vadh dks 8 ?kaVs esa Hkjrk gSA tcfd nwljk uy
mlh Vadh dks 16 ?kaVs esa [kkyh djrk gSA vxj nksuksa
uy lkFk esa [kksy fn, tk, rks Vadh fdrus nsu esa
Hkjsxk\
(a) 8 (b) 10

(c) 16 (d) 24

2. A cistern has two taps which fill it in 12
min and 15 min respectively. There is also
a waste pipe in the cistern. When all pipes
are opened, the empty cistern is full in 20
min. How long will the waste pipe take to
empty a full cistern?

,d Vadh esa nks uy gSa tks mls Øe'k% 12 feuV vkSj
15 feuV esa Hkj nsrs gSaA ogk¡ ij ,d vfrfjDr fudkl
ikbi Hkh gSA vxj rhuksa ikbi [kqys jgsa rks Vadh 20
feuV esa Hkj tkrk gS] rks rhljk ikbi fdrus nsj esa Hkjs
gq, Vadh dks [kkyh dj nsxk\
(a) 12 min (b) 10 min

(c) 8 min (d) 16 min

3. Pipe A can fill a tank in 12 hours whereas
Pipe B can empty the same tank in 20
hours. If both the pipes are operating
simulta-neously, then in how many hours,
half of the tank gets filled?

ikbi A ,d VSad dsk 12 ?kaVs esa Hkj ldrk gS tcfd
ikbi B mlh VSad dsk 20 ?kaVs esa [kkyh dj ldrk gSA
;fn nksuksa ikbi ,d lkFk dke dj jgs gSa] rks fdrus
?kaVksa esa VSad dk vk/k fgLlk Hkj tk,xk\
(a) 12 (b) 15

(c) 10 (d) 18

4. Pipe A can fill a tank in 20 hours, but
because of a leakage in the tank, the tank
gets filled in 28 hours. Find in how many
leakage alone can empty the completely
filled tank?

ikbi A ,d VSad dks 20 ?kaVs esa Hkj ldrk gS] ysfdu
VSad esa fjlko ds dkj.k VSad 28 ?kaVksa esa Hkjk tkrk gS
rks fjlko vdsys iwjh rjg ls Hkjs VSad dks fdrus ?kaVksa
esa [kkyh dj ldrk gS\
(a) 70 (b) 56

(c) 84 (d) 64

5. Pipe X can fill a tank in 24 minutes and
pipe Y can fill the tank in 36 minutes. Both
the pipes are opened together, and after 9
minutes, Y is closed. Find the time taken
by X to fill the remaining part of tank (in
minutes)

uy X fdlh gkSt dks 24 feuV esa Hkj ldrk gS vkSj
uy Y gkSt dks 36 feuV esa Hkj ldrk gSA nksuksa uyksa
dks ,d lkFk [kksyk x;k vkSj 9 feuV ds ckn] Y dks
can dj fn;k x;kA gkSt ds 'ks"k Hkkx dks Hkjus ds fy,
X }kjk fy;k x;k le; Kkr djsa (feuVksa esa)A
(a) 9 (b) 6

(c) 12 (d) 18

6. X and Y can fill a tank in 12 hr and 8 hr
respectively but Z can empty in 3 hr. Pipes
X,Y and Z start at 4 pm, 5 pm and 7 pm
respectively. At what time tank will be
empty.

X vkSj Y Øe'k% 12 ?kaVs vkSj 8 ?kaVs esa ,d VSad dks
Hkj ldrs gSa ysfdu Z, 3 ?kaVs esa bls [kkyh dj ldrk
gSA ikbi X, Y vkSj Z Øe'k% 'kke 4 cts] 5 cts vkSj
7 cts ij [kksys tkrs gSaA rks ;g VSad fdl le; [kkyh
gks tk,xk\
(a) 8 p.m. (b) 9 p.m.

(c) 10 p.m. (d) 11 p.m.

7. Pipes A, B and C can fill a tank in 30 h,
40 h, and 60 h respectively. Pipes A, B and
C are opened at 7 am., 8 am and 10 a.m.,
respectively on the same day. When will
the tank be full?

uy A, B rFkk C fdlh gkSt dks Øe'k% 30 ?kaVs] 40
?kaVs rFkk 60 ?kaVs esa Hkj ldrs gSaA uy A, B rFkk C

dks Øe'k% lqcg ds 7 cts] 8 cts rFkk 10 cts [kksyk
tkrk gSA gkSt fdrus cts Hkj tk,xh\
(a) 10.00 p.m.

(b) 10.20 p.m.

(c) 9.20 p.m.

(d) 9.40 p.m.

8. Two pipes can fill a cistern in 14 and 16
hours respectively. The pipes are opened
simultaneously and it is found that due to
leakage in the bottom of the cistern, it
takes 32 minutes extra for the cistern to
be filled up. When the cistern is full, in
what time will the leak empty it?

PIPE AND CISTERN (uy vkSj Vadh)
(CLASSROOM SHEET (PART-1))
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nks ikbi ,d gkSt dks Øe'k% 14 vkSj 16 ?kaVksa esa Hkj
ldrs gSaA ikbiksa dks ,d lkFk [kksyk tkrk gS rFkk ;g
Kkr gksrk gS fd gkSt ds ry esa ,d Nsn ds dkj.k bls
Hkjus esa 32 feuV vf/d yxrs gSaA tc gkSt Hkjk gks
rks Nsn dks bls [kkyh djus esa fdruk le; yxsxk\
(a) 114 hrs (b) 112 hrs

(c) 100 hrs (d) 80 hrs

9. A tank has three pipes P, Q and R. P can
fill it in 2 hours. Q and R can empty it in
4 hours and 6 hours respectively. All the
pipes were opened at 9 a.m. Q was closed
at 10 a.m. and R was closed at 11 a.m. Find
the time when the tank would be filled.

fdlh gkSt esa rhu uy P, Q vkSj R gSaA P bls 2 ?kaVs
esa Hkj ldrk gSA Q vkSj R bls Øe'k% 4 ?kaVs vkSj 6
?kaVs esa [kkyh dj ldrs gSaA lHkh uyksa dks lqcg 9 cts
[kksyk x;kA Q dks lqcg 10 cts can dj fn;k x;k
vkSj R dks lqcg 11 cts can dj fn;k x;kA gkSt
fdrus cts rd Hkj tk,xh\
(a) 11:40 a.m. (b) 12:20 p.m.

(c) 12:30 p.m. (d) 12:10 p.m.

10. Pipe X can fill a tank in 24 minutes and
pipe Y can fill the tank in 36 minutes. Both
the pipes are opened together, and after 9
minutes, Y is closed. Find the time taken
by X to fill the remaining part of tank (in
minutes)

uy X fdlh gkSt dks 24 feuV esa Hkj ldrk gS vkSj
uy Y gkSt dks 36 feuV esa Hkj ldrk gSA nksuksa uyksa
dks ,d lkFk [kksyk x;k vkSj 9 feuV ds ckn Y dks
can dj fn;k x;kA gkSt ds 'ks"k Hkkx dks Hkjus ds fy,
X }kjk fy;k x;k le; Kkr djsa (feuVksa esa)A
(a) 9 (b) 6

(c) 12 (d) 18

11. Pipes X and Y can fill a tank in 20 minutes
and 30 minutes respectively. Pipe Z can
empty the same tank in 60 minutes. All
the three pipes are connected to the tank
but each pipe is opened for one minute,
starting with X, followed by Y and then Z.
In this way, the time taken to completely
fill the tank is k minutes. Find the value
of k.

ikbi X vkSj Y Øe'k% 20 feuV vkSj 30 feuV esa
fdlh VSad dks Hkj ldrs gSaA ikbi Z mlh VSad dks 60
feuV esa [kkyh dj ldrk gSA lHkh rhuksa ikbi VSad ls
tqM+s gSa] ysfdu izR;sd ikbi ,d feuV ds fy, [kksyk
tkrk gS] X ls 'kq: gksrk gS] mlds ckn Y vkSj fiQj Z
bl  rjg ls VSad dks iwjh rjg ls Hkjus esa yxus okyk
le; k feuV dk eku Kkr djsaA

(a) 45 (b) 43.5

(c) 60 (d) 36

12. Three pipes A, B and C can fill a tank in
6, 8 and 12 minutes respectively. The pipe
C is closed 6 minutes before the tank is
filled. In what time will the tank be full?

rhu ikbi A, B vkSj C fdlh Vadh dks Øe'k% 6] 8
vkSj 12 feuV esa Hkj ldrh gSA ikbi A dks Vadh Hkjus
ls 6 feuV igys can dj fn;k x;k rks Vadh fdrus nsj
esa Hkjsxh\
(a) 4 min

(b) 6 min

(c) 5 min

(d) Data inadequate

13. Pipes P and Q can fill a tank in 12 min and
16 min respectively. Both are kept open for
x min and then Q is closed and P fills the
rest of the tank in 5 min. The time x after
which Q was closed is :

ikbi P vkSj Q ,d ikbi dks Øe'k% 12 feuV rFkk
16 feuV esa ,d VSad dks Hkj ldrs gSaA nksuksa dks x

feuV ds fy, [kqyk j[kk tkrk gS vkSj fiQj Q dks can
dj fn;k tkrk gS rc P cps gq, Hkkx dks 5 feuV esa
Hkj nsrk gS] rks fdrus le; ckn Q dks can fd;k x;k
Fkk\
(a) 3 min (b) 2 min

(c) 6 min (d) 4 min

14. A cistern can be filled by two pipes in 12
& 16 minute respectively. Both pipes are
opened together, for a certain time out

being clogged, only 
7

8
 of quantity of water

flows through the former and 
5

6
 through

the latter pipe. The obstruction is
removed, the cistern is filled in 3 minute
from that moment. How long was it before
the full flows began.

nks uy fdlh VSad dks Øe'k% 12 feuV vkSj 16 feuV
esa Hkj ldrs gSaA nksuksa uyksa dks ,d lkFk [kksyk tkrk
gSA dqN le; ds fy, uy esa [kjkch vkus ds dkj.k

igys uy ls dsoy 
7

8
 ikuh fudyrk gS vkSj nwljs

uy ls 
5

6
 ikuh vkrk gSA vc [kjkch dks Bhd dj

fn;k x;k vkSj Bhd djus ds ckn VSad 3 feuV esa Hkj
tkrk gSA Kkr dhft, fd fdruh nsj ckn [kjkch dks
Bhd fd;k x;k\
(a) 3.5 min (b) 2.5 min

(c) 6.5 min (d) 4.5 min
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15. Pipe A takes 3 min more time to fill a tank
than the time taken by pipes A and B when
they are working together whereas pipe B

takes 
1

21
3

 min more time to fill a tank

than the time taken by pipes A and B
together. In how much time the tank gets
filled when they all working together?

;fn uy A vkSj B ,d lkFk dk;Z djrs gSa rks uy A,

uy A ,oa B dh rqyuk esa fdlh gkSt dks Hkjus esa 3
feuV T;knk ysrk gSA uy B, uy A ,oa B dh rqyuk

esa 
1

21
3

 feuV T;knk ysrk gSA ;fn nksuksa uy ,d

lkFk dk;Z djss rks gkSt dks Hkjus esa fdruk le; yxsxk\
(a) 7 min (b) 16 min

(c) 8 min (d) 10 min

16. A swimming pool is fitted with three pipes.
The first two pipes working simultaneously
full the pool in the same time as third pipe
alone. The second pipe alone fills the pool
5 hours faster than the first pipe and 4
hours slower than the third pipe. In what
time will the second and the third pipe
together fill the pool?

,d fLo¯ex iwy dks rhu ukyksa ds }kjk Hkjk tkrk gSA
;fn nks uyksa dks iwy dks Hkjus esa rhljs uy ds cjkcj
le; yxrk gks rFkk nwljk uy igys uy dh rqyuk esa
5 ?kaVs rsth ls rFkk rhljs uy ls 4 ?kaVs /hes Hkjrk gS
rc nwljk o rhljk uy ,d lkFk iwy dks Hkjus esa
druk le; ysaxss\

(a)
30

7
(b)

15

4

(c)
11

4
(d)

13

6

17. Pipe A alone can fill a tank in 12 hours
whereas pipe B alone can fill the same tank
in 15 hours and pipe C can empty at the
rate of 7.5 litres/min. from the same tank.
If all the three pipes operate
simultaneously then the tank gets filled in
10 hours. Find the capacity of the tank.

ikbi A vdsys VSad dks 12 ?kaVs esa Hkj ldrk gS tcfd
ikbi B vdsys mlh VSad dks 15 ?kaVs esa Hkj ldrk gS
vkSj ikbi C mlh VSad dsk 7-5 yhVj@feuV dh nj ls
[kkyh dj ldrk gSA ;fn rhuksa ikbi ,d lkFk dke
djrs gSa rks VSad 10 ?kaVs esa Hkj tkrk gSA VSad dh {kerk
Kkr dhft,A

18. Two taps A and B can fill a tank 20 and

30 minutes respectively while a waste pipe

C empty the tank. Initially pipe A and B

are opened together but when the tank was

supposed to be filled it was found that pipe

C was opened mistakenly. Now pipe C is

turn off and the remaining tank is fill in

next 3 minutes. In how much time pipe C

can empty the whole tank?

nks uy A vkSj B Øe'k% ,d VSad dks 20 feuV vkSj
30 feuV esa Hkj ldrs gSa tcfd ,d csdkj ikbi C

VSad dks [kkyh djrk gSA çkjaHk esa ikbi A vkSj B ,d
lkFk [kksys tkrs gSa ysfdu tc VSad dks Hkj tkuk pkfg,
Fkk rks ik;k x;k fd ikbi C xyrh ls [kksyk x;k FkkA
vc ikbi C dks can dj fn;k tkrk gS vkSj 'ks"k VSad
vxys 3 feuV esa Hkj tkrk gSA fdrus le; esa ikbi C
iwjs VSasd dks [kkyh dj ldrk gS\
(a) 18 min. (b) 16 min.

(c) 12 min. (d) 48 min.

19. Pipe A and B can fill a tank in 20 hours
and 30 hours respectively. Both the pipes
are opened to fill the tank but when the

tank is 
1

3
rd full a leak develops in the

bottom of the tank, through which 
1

3
rd of

the water supply by both the pipes leak
out. Then calculate in how much time the
tank will full?

uy A rFkk B fdlh VSad dks vyx&vyxd Øe'k%
20 rFkk 30 ?kaVs esa Hkj ldrs gSaA nksuksa uy dks ,d

lkFk [kksy fn;k tkrk gS] tc VSad dk 
1

3
 Hkkx Hkj

tkrk gS rc VSad ds ry esa ,d fNnz gks tkrk gS tks

uy A rFkk B }kjk izfr ?kaVs Hkjs x, ikuh dk 
1

3
Hkkx [kkyh djrk gS] rks Kkr dhft, VSad dks Hkjus esa
fdruk le; yxsxk\
(a) 16 hours (b) 12 hours

(c) 18 hours (d) None of these

20. In a tank four taps of equal efficiency are
fitted on equal intervals. The first pipe is
at the base of the tank. And the 4th pipe

is at 
3

4
 of height of the tank. Then

calculate in how much time the whole tank
will empty. If the first pipe can empty the
tank in 12 hours.

,d V S ad e s a  ,d leku dk; Z { ker k o ky s
4 uy leku nwjh ij yxs gq, gSaA igyk uy VSad ds

ry esa rFkk pkSFkk uy VSad dh 
3

4
 Å¡pkbZ ij yxk gSA

;fn igyk uy VSad dks 12 ?kaVs esa [kkyh dj ldrk
gS] rks Kkr dhft, Hkjk gqvk VSad fdrus le; esa [kkyh
gks tk,xk\
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(a) 6 hours 15 min.

(b) 7 hours 15 min.

(c) 8 hours 20 min.

(d) None of these

21. In a tank 8 taps of equal efficiency are
fitted on equal height inter values on both
side. The 1st and 5th pipe is at the base
of the tank both side and the 4th and 8th

pipe is at 
3

4
th of height of the tank. Then

calculate in how much time whole tank will
empty. If the 1st pipe can empty the tank
in 24 hours. If two middle pipe of one side
is not working.

,d VSad esa 8 uy ,d&nwljs ls cjkcj nwjh ij Å¡pkbZ
dh fn'kk esa nksuksa rjiQ yxs gq, gSaA igyk ikbi vkSj
ik¡poka ikbi VSad ds vk/kj ij yxs gq, gSa rFkk pkSFkk

ikbi vkSj vkBoka ikbi VSad dh 
3

4
 Å¡pkbZ ij yxs

gq, gSaA ;fn igyk ikbi VSad dks 24 ?kaVs esa [kkyh dj
ldrk gS rks crkb, fd VSad fdrus le; esa [kkyh gks
tk,xk] lHkh dh {kerk cjkcj gSA ;fn ,d rjiQ ds
chp ds nks uy dke ugha dj jgs gksaA

(a)
15

2
(b) 5

(c) 7 (d) 4

22. Pipes P and Q are fitted to a tank. P fill
the tank in 2 hours and the capacity of Q
which is emptying pipe, is half that of P.
If Q is fitted at one-third of the height of
the tank from the base and both the pipes
are opened simultaneously, then find the
time taken to fill the empty tank.

uy P vkSj Q dks ,d gkSt esa yxk;k x;k gSA P gkSt
dks 2 ?kaVs esa Hkj ldrk gS rFkk Q tks fd fudklh uy
gSa fd {kerk P dh vk/h gSA ;fn Q dks vk/kj ls
gkSt dh ,d&frgkbZ Å¡pkbZ ij yxk;k x;k gks vkSj
nksuksa uy ,d lkFk [kksy fn, rk, rks gkSt dks [kkyh
gksus esa fdruk le; yxrk gS\

(a) 3 hours (b)
1

2
2

 hours

(c)  
1

3
3

 hours (d)
1

4
3

 hours

23. 12 taps are fitted in a tank some are inlet
taps and some are outlet taps. Each water
tap can fill the tank in 6 hours and each
outlet tap can empty the tank in 12 hours.
If all the taps are open together then the
tank is full in 4 hours. Then find the
number of inlet taps.

,d VSad esa 12 uy yxs gq, gSa ftlesa ls dqN uy VSad
dks Hkjrs gSa rFkk 'ks"k uy VSad dks [kkyh djrs gSaA
çR;sd Hkjus okyk uy VSad dks 6 ?kaVs esa Hkj ldrk gS
rFkk izR;sd [kkyh djus okyk uy VSad dks 12 ?kaVs esa
[kkyh dj ldrk gSA ;fn lHkh uy ,d lkFk [kksy
fn, tk,a rks 4 ?kaVs esa VSad Hkj tkrk gS] rks Hkjus okys
uy dh la[;k Kkr dhft,A
(a) 5 (b) 4

(c) 6 (d) None of these

24. A leak in the bottom of a tank can empty
it in 6 hours. A tap fill the tank @ 4 litres/
min is turn on. If both taps are opened
then the tank will empty in 8 hours. Find
the capacity of the tank?

,d VSad ds ry esa ,d fNnz VSad dks 6 ?kaVs esa [kkyh
dj ldrk gS] ,d uy VSad dks 4 yhVj@feuV dh nj
ls Hkjrk gS] rks 8 ?kaVs esa [kkyh gks tkrk gS] rks VSad
dh {kerk Kkr dhft,A
(a) 2400 litres (b) 5780 litre

(c) 5760 litres (d) None of these

25. In what time would a cistern be filed by 3
pipes whose diameters are 1 cm, 2 cm 4
cm running together. When the largest

alone fill it in 
1

1
20

 hours. The amont of

water flowing in by each pipe being
proportional to the square of its diameter.

,d Vadh dks ,d lkFk pyus okys 3 ikbi ftudk
O;kl 1 lseh] 2 lsrh vkSj 4 lseh gS] ls fdrus le; esa

Hkjk tk,xk tc lcls cM+k vdsyk bls 
1

1
20

 ?kaVs esa

Hkjrk gSA izR;sd ikbi }kjk cgus okys ikuh dh ek=kk
mlds O;kl ds oxZ ds lekuqikrh gksrh gSA
(a) 60 minutes (b) 48 minutes

(c) 30 minutes (d) None of these

1. (c) 2.(b) 3. (b) 4. (a) 5. (a) 6. (d) 7. (c) 8. (b) 9. (d) 10. (a)

11.(b) 12.(a) 13.(d) 14.(d) 15.(c) 16.(b) 17.(a) 18.(d) 19.(b) 20.(a)

21.(a) 22.(c) 23.(a) 24.(c) 25.(b)

Answer Key
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